DIVIDE BY 8







Here is an 8 by 2 array
00000000 2x8=16 8x2=16
00000000 16:-8=2 16+2=38

1) Draw an 8 by 4 array

2) How many counters are there in your array?

3) Write 2 multiplication equations to match your array.

4) Write 2 division equations to match your array.



Here is an 8 by 2 array

Q000000@® :x3=16 8x2=16
Q0000090 ® 16-3-2 16-2=28

1) Draw an 8 by 4 array 88888888
00000000
00000000

2) How many counters are there in your array? 32

3) Write 2 multiplication equations to match your array.

4 X8=32 8X4=32
4) Write 2 division equations to match your array.

32+-8=4 32-+4=38






Here are 24 flowers.

White

Rose
Have a think m

How could we divide the flowers by 8?
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We could share the
flowers equally
between 8 pots.
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White

The flowers are shared equally between 8 pots.
How many flowers will be in each pot?

There are 3 flowers in each pot.
24 -8 =13




The flowers are grouped into pots of 8
How many pots can we fill?

There are 3 pots of 8
24 -8 =13



Shared into 8
equal groups
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White

48 children go camping. Have a think m

Each tent holds 8 children.
How many tents are needed? @ :
1 tent — 8 children

2 tents — 16 children

j; j; j; j; j; j; 3 tents — 24 children
4 tents — 32 children

16 24 32 40 48 |
5 tents — 40 children

6 tents — 48 children
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How could you represent this problem?



White
48 children go camping. Have a think m

There are 8 tents.
How many children will sleep in each tent?
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@ To divide by 8, take the number you are
dividing and divide it by 2 four times.

80+-8=10 Have a think m

80 +_2.4() __2, 20 +_2.10
=2 =2 =2

| think you only need to
divide by 2 three times. @



White

One of these numbers will not divide exactly by 8

16 56 96
2 % 8 / \ [\ / \
80 6
40 16 380 16
5Xx8 2X8 10X8 2x8

Have a think m
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Have a go at the questions
on the worksheet




